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Directions (1-15): TAH & T W7 &, &Y FHIHXW (I) 30X (1) fRw 7@ g1 =t @it 6 g
X 3T I fiforu-

Lp?+5p+6=0
Ql_ll.q2+3q+2={}

a)ﬂﬁp,qﬁ@%’l
b)aﬁp,q@fﬁﬁﬂgl

¢) It p, q F TUEL

d) 7fE p IT AT q F TEL AT q F FE=T BN
(e) T p AT AT q F TG AT q T FraT gl
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" II. g + 4q = —4

(a) T p, q W FT=T &

(b) T p, q & BT Bl

(c) Tt p, q F TUET BN

(d) T p AT AT q F TLET AT q A TET B
(e) TR p AT AT q F FTLEL AT q & FIeT 2
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L. p> +p =56

2 -
QB.II.q —17q +72 =20
(@) FT p, q T TET R
(b) af% p q & FreT B
(c) Tf= p, q F TUET Q)
(d) I p AT AT q F TG AT q H T=T 2
(e) T p AT AT q F TG AT q T Frar gl
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.3p+2q—-58=20
0. I.g+p=23

(a) T p, q =T &

(b) @< p q & T B
(c)?ﬁ%p,q%wil

(d) T p AT AT q F TLET AT q A T=T B
(e) TR p AT AT q F FTLEL AT q & FIeT 2
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L3p2+17p+10=0

05 11 10g° +99+2=0

(a) 7f< p, q A A=T 2

(b) T p q & F=T 2

(c) T p, q F TUEAT G

(d) T2 p AT AT q F TLET AT q A T=T B
(e) 7T p AT AT q F ILTE AT q & BT 2
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L6x% % 74121 =10
IL.yZ2+9y—22=0
Q6 yo+9y

(a)?flﬁ'x<y
(b)afEx>y
(o) afEx=>y
(d)afexs<y
(e) I x = y AT x T y F 1= FIs gaer TTioq A1 63T ST Tt 2
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Lx = V625
o 1Ly =V676



(a) e x<y

(b)afzx>y

() afxx=2y

(d)yafzxs<y

(e) AT x = y AT x T y F A= Fls Gag T AG! [haT ST Thel T &
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L2 4 3% 494 =D
. - =
o Y2 —8y+16=0

(a) T x < y

(b) FfE x>y

() afEx=>y

(d)yafzxs<y

(e) I x = y AT x T y % 1= FIs gaer TTioq 981 36T ST Tt 2
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L2 —i06) = [23)% =56
- 1. y1/® — 55 4+ 376 = (18)?

(a) e x<y

(b)afzx>y

ORIEP TN

(d)afexs<y

(e) AT x = y AT x T y F A= Fls Gag T A1 [haT ST ThelT &
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Lx2—19x +84 =0
2 gt
g1, 1L ¥* — 25y + 156 = 0

(a)?flﬁ'x<y
(b) x>y
(o) afEx=>y
(d)afexs<y
(e) I x = y AT x T y o 1= FIs gaer TTiOq A1 36T ST Tt 2
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I. 4x+7y=209
II. 12x-14y=-38

(a)?T%x<y

(b) T x>y

(c)afex<y

(d)afzx2y

(e) afe x = y AT FI< Faer w7 AET AT ST TR T
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Q11

. 17x2+48x=9
I 13y2=32y-12

() afex<y

(b) AT x>y

(TR x<y

(d)yafex>y

(e) @ x = y AT FI Tag TATIAT Al AT ST THaT §
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Q12

I. 16x2+20x+6=0

Q13. II. 10}"2 + 38}? +24=0

(a)afex<y

(b) AT x>y

() afax<y

(d)afzxzy

(e) afe x = y AT FI< Taer w7 AET AT ST ThaT
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I. 8x2+6x=5

7 =
qe I 12y2-22y+8=0



() afex<y

(b) AT x>y

(TR x<y

(d)afzx2y

(e) A& x = y AT FI TaL TATIAT Al AT ST THaT §
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I. 18x2+18x+4=0
II. 12y2+29y+14=0

() afex<y

(b) Ffe x>y

(TR x<y

(d)afzx2y

(e) A& x = y AT FI TaL TATIAT Al AT ST THaT §
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Q15.

Solutions

S1. Ans.(e)
Sol.

Lp?+5p+6=0
=(p+2)(p+3)=0
=p=-2,-3
I.g°+3q+2=0
=[gq+1)(g+2)=0
=q=-1,-2

=psq

S2. Ans.(d)
Sol.

|
=p=2-2
ILg°+4q+4=0
=([g+2)(g+2)=0
=g =l A
=pzq



S3. Ans.(b)

Sol.

Lp?+p-56=0
=pr8lp=¥)=0
=p=-87
I.g2-17q+72=0
=[q-9)(q-8}=0
=q=5829

=p<qg

S4. Ans.(a)

Sol.

L.3p+2q=58 &IL.p+q=23
Solving I & I we get
P=12,q=11

=p>q

S5. Ans.(b)
Sol.

I.3p*+17p+10=0
= 3p®+15p+2p+10=0
= p+5)[EBp+2)=0
::-p:—S,—g
I. 10g% + 9g+ 2=0
= 10gq° +5q+4q+2=0
= (2q+1)(5q+2)=0

1 2

el

=p<q

S6. Ans.(e)
Sol.



Léx*+77x+121=0
or,6x° + 66x +11x + 121 =10
or,6x(x+11)+ 11(x+ 11) =0
or,(6x+11)(x+11) =10

11
or,x = —?1—11
ILy?+9y—22=0
or,y* +11ly—2y—22=0
or,y(y +11) — 2(v + 11)
or,(¥ —2)(v+11)=0
or,y = 2,—11
Hence, no relationship can be
established between x and y.

S7.Ans.(a)

Sol.

I.x =+/625 = +25
ILy =676 = +26
So,v>=x

S8. Ans.(a)

Sol.

Lx?+4x+4=0
(x+2)P=0=x=-2
ILy?—8y+16=0

> (y—4)y =0=y=4
Y EX

S9. Ans.(d)

Sol.
I.x% —(16)* = (23)* — 56
or x* — 256 = 529 — 56
~x =+/729 = +27
ILy*® — 55 4+ 376 = (18)?
or y*/?® = 324 4 55 — 376
=3P =2y
SV 22X

S10. Ans.(d)
Sol.



Lx*—19x+84=0
x2—7x—12x+84=0
(x—7Wx—12)=0
~x=7,12

ILy* —25y +156 =0
y?—13y—12y + 156 =0

(y—13)(y—-12)=0
=y =13,12
X =Y

S11. Ans.(e)
Sol.

L 4x 4+ 7y = 209

II.12x — 14y = —38
or 6x — 7y = —19

Adding I and Il we get

10x =190

=x=19

~7y=114+ 19

=y=19

X=¥

S12. Ans.(a)
Sol.
I.17x%+48x=9
=17x* +48x-9=0
= 17x*+51x-3x-9=0
= (x+3)(17x-3)=0
3

X e
17

I.13y* —32y+12=0
= 13y — 26y —6y+12=0
=(y—-2)(13y—6)=0

=y=2 2
Y=o13
}F}X
S13. Ans.(b)

Sol.



.8x>+10x+3=0
=8x +4x+6x+3=0
= 2x+1)(4x+3)=0

1 3
== —— ——

¥

7y

I.5y* +19y + 12=0
=5y*+ 15y +4y+12=0
= (y+3)(5y+4)=0
= (y+3)(5y+4)=0

=y=-3 .
y= ' 5
X>y
S14. Ans.(c)

Sol.

L8 +6x-5=0
=8x*-4x+10x-5=0
= (2x-1) (4x+5)=0

1 5

:bx:_'__
2 4

IL6y* -11y+4=0
=2 6y°-3y-8y+4=0
=2y-1)(By-4=0

v— 14

¥ _EJE
Y2X

S15. Ans.(d)

Sol.



.9%* +9x + 2 =0
=9x>+3x+6x+2=0
= (3x+1)(3x+2)=0
1 2
Ry
3" 3
IL12y* +29y + 14=0
= 12y* + 21y +8y+ 14=0
= [4y+7)(3y+2)=0

g o 12
Y= 43
X2V



